FRANKLINCOVEY CLIENT SALES, INC.

The Leader in Me®

This Agreement is entered into as of the date given below (the "Effective Date") by and between Franklin Covey Client Sales, Inc., a Utah corporation whose address is 2200 West Parkway Blvd., Salt Lake City, Utah 84119 ("FranklinCovey") and the following organization ("Client"):

Organization: Address:	Glasscock Elementary 773 East Main Street	Contact Person: Telephone:	Angie Akers 270 692-3223						
City, State, ZIP:	Lebanon, KY 40033	Email Address:	angie.akers@marion.kyschools.us						
Part I									
Training Sessions/Materials and Pricing									
Services to be provid	led include:								
Consultant Fees:	The Leader in Me Coaching System™ for one year	\$4,950.00							
	*Please anticipate expenses as they are not included								
	Onsite Coaching Days at \$2,700 for 2 day(s)	\$5,400.00							
	*Please anticipate expenses as they are not included								
License Fees:									
	Intellectual Property License/Web Community for one year	\$1,500.00							
Classroom Materials	:								
	Level 1 Student Activity Guide at \$5.50 each Qty 75	\$412.50							
	Level 2 Student Activity Guide at \$5.50 each Qty 90	\$495.00							
	Level 3 Student Activity Guide at \$5.50 each Qty 90	\$495.00							
	Level 4 Student Activity Guide at \$5.50 each Qty 75	\$412.50							
	Level 5 Student Activity Guide at \$5.50 each Qty 50	\$275.00							
	Level K Teacher Activity Guide at \$30.95 each Qty 3	\$92.85							
	Level 1 Teacher Activity Guide at \$30.95 each Qty 3	\$92.85							
	Level 2 Teacher Activity Guide at \$30.95 each Qty 4	\$123.80							
	Level 3 Teacher Activity Guide at \$30.95 each Qty 4	\$123.80							
	Level 4 Teacher Activity Guide at \$30.95 each Qty 3	\$92.85							
	Level 5 Teacher Activity Guide at \$30.95 each Qty 2	\$61.90							
	The 7 Habits of Happy Kid Book at \$11.50 each Qty 16	\$184.00							
	The 7 Habits of Happy Kids Character Poster at \$24.95 each Qty 16	\$399.20							
	The 7 Habits of Happy Kids Tree Poster at \$11.00 each Qty 27	\$297.00							
	Shipping and Handling UPS Ground	\$114.17							

Workshop/Event Logistics

Title:

The Leader in Me "7 Habits Signature 4.0"

Date(s):	June 21-22, 2016				
Time	8:00 AM – 3:00 PM				
Location	Glasscock Elementary				
Consultant(s)	Larinda Agee				
Participants:	42				
Job Number:	18026221				
Fees and Participan	t Materials:				
Consultant Fees:					
consultant rees.	Larinda Agee at \$2,700 per day	\$5,400.00			
	*Please anticipate expenses as they	\$3,100.00			
	are not included				
Participant Materia					
i al ticipant Materia	7 Habits Signature 4.0 Participant Kit at	\$4,830.00			
	\$115 each QTY 42	\$4,030.00			
	-	¢105 70			
	Shipping and Handling UPS Ground	\$125.73			
Workshop/Event Lo					
Title:	The Leader in Me "TLIM Launching Leadership"				
Date(s):	June 23, 2016				
Time	8:00 AM – 3:00 PM				
Location	Glasscock Elementary				
Consultant(s)	Larinda Agee				
Participants:	42				
Job Number:	18026222				
Fees and Participan	t Materials:				
Consultant Fees:					
consultant rees.	Larinda Agee at \$2,700 per day	\$2,700.00			
	*Please anticipate expenses as they	<i>φ</i> 2,700.00			
	are not included				
Participant Materia					
i al ticipant Materia	TLIM Launching Leadership Field Guide	\$1,890.00			
	at \$45 each QTY 42	\$1,090.00			
	-	\$73.70			
	Shipping and Handling UPS Ground	\$75.70			
Manula de la construcción de la					
Workshop/Event Lo					
Title:	The Leader in Me "TLIM Creating Culture"				
Date(s):	July 6, 2016				
Time	8:00 AM – 3:00 PM				
Location	Glasscock Elementary				
Consultant(s)	Larinda Agee				
Participants:	42				
Job Number:	18026219				
Fees and Participan	<u>t Materials:</u>				
Consultant Fees:					
	Larinda Agee at \$2,700 per day	\$2,700.00			
	*Please anticipate expenses as they				
	are not included				
Participant Materials:					
	TLIM Creating Culture Field Guide at	\$1,890.00			
	\$45 each QTY 42				
	Shipping and Handling UPS Ground	\$73.70			
	-				
Workshop/Event Logistics					
<u>Workshop/Event</u> Lo	<u>gistics</u>				
	-	2 1. Building the Plan"			
<u>Workshop/Event Lo</u> Title: Date(s):	p <mark>gistics</mark> The Leader in Me "TLIM Lighthouse Team Training July 7, 2016	g 1: Building the Plan"			

Location	Glasscock Elementary			
Consultant(s)	Larinda Agee			
Participants:	8			
Job Number:	18026220			
Fees and Participant Materials:				
Consultant Fees:				
	Larinda Agee at \$2,700 per day	\$2,700.00		
	*Please anticipate expenses as they			
	are not included			
Participant Materials:				
	TLIM Lighthouse Team 1 Field Guide at	\$360.00		
	\$45 each QTY 8			
	Shipping and Handling UPS Ground	\$26.01		

Part II Website and Intellectual Property License

If Client has elected to become a Leader in Me school, Client is entitled to access FranklinCovey's Leader in Me website (the "Website") located at www.leaderinme.org and receive a limited license to use certain FranklinCovey intellectual property as defined in this Section.

Grant of Rights To Website: Only teachers, administrators, students and student parents of Client ("Site Users") shall have access to certain protected sites on the Website (the "Sites"). Teachers and Administrators shall have access to all protected Sites, inclusive of the Teacher Lounge, and students and parents shall have access only to the Student Schoolyard Site. Access to the Sites shall be available only to Site Users, who will be assigned a unique user identification name and password. The Sites are for Site User use only, and Client and Site Users agree not to make the Sites available in any manner to individuals who are not a party to this Agreement or to the general public. The Sites are provided for the benefit of Client its teachers, administrators, students and parents only who have elected this solution. FranklinCovey will not provide technical support to Client and Site Users or be liable in the event the Website, Sites or related technology fails. Site Users for the Teacher Lounge agree to accept the terms and conditions of such Site. To view the terms go to www.theleaderinme.org/terms.html.

Intellectual Property License: FranklinCovey hereby grants to the Client, a limited, non-exclusive license (the "License"), to use the FC IP (defined below) within Client's schools only in connection with the delivery or promotion of FranklinCovey's The Leader in Me® solution within its school. For clarity, the FC IP may be used with, but not meant to be limiting, lesson plans, posters, tee shirts, pins and songs and other similar uses. The License to the FC IP shall not be sublicensed, assigned, or transferred by Client. All works created by Client, using the FC IP shall be deemed derivative work ("Derivative Works"), and are owned by FranklinCovey and may be used only pursuant to the license granted herein. The "FC IP" shall mean The Leader in Me trademarks and copyrighted materials provided to the school by FranklinCovey, including The 7 Habits®. Client shall effectively communicate to its staff, employees, teachers and anyone else who may have access to or receive the FC IP, that such FC IP is copyright-protected and the proprietary property of FranklinCovey, and that neither Client nor its employees shall modify, reproduce, file share, email, distribute to a third party, or publicly post (Slide Share, YouTube, etc.) the FC IP and any Derivative Works created by Client or its employees except as expressly provided for herein. The FC IP is for the benefit of Client for use within its school only.

Term of Website and License: The Website and License granted above shall commence with the Effective Date and continue for one (1) year and year to year thereafter. Client may terminate the rights granted herein by providing written notice sixty (60) days prior to the end of each 12-month period; however, all fees are non-refundable once the 12-month period and any subsequent year thereafter has commenced. Fees are subject to an annual price increase not to exceed five percent (5%). FranklinCovey will provide thirty (30) days written notice of such price increase.

Part III

Coaching Terms and Conditions

The Leader in Me Coaching System provides an opportunity for staff and/or teachers of Client to attend the sessions described herein. Notwithstanding other terms and conditions in conflict with these terms and conditions, the following terms shall govern the coaching services.

Fall Community Coaching Day: Fall Community Coaching Day provides an opportunity for two (2) staff members to develop a professional learning community with other schools to deepen implementation of The Leader in Me. This day will be held at a location in or near your community determined by FranklinCovey.

Live Onsite Coaching Day: Your Leader in Me Coach will spend 1 day at your school reviewing your implementation plan, observing, offering professional advice, assisting with creating next steps, and sustaining momentum within you staff.

Winter/Spring Community Coaching Day: Winter/Spring Community Coaching Day provides an opportunity for two (2) staff members to continue the professional learning community to further deepen the implementation of The Leader in Me.

This day will be at a location in or near your community determined by FranklinCovey.

Cancellation/Rescheduling Fees Fifteen (15) calendar days' notice is required to cancel or reschedule the Onsite Coaching Day. If Client provides fewer than fifteen (15) days' notice, Client will be billed a cancellation fee of \$1,250 or a rescheduling fee of \$625 to cover costs incurred by FranklinCovey. Client will not be assessed a cancellation/rescheduling fee if the Onsite Coaching day is cancelled or rescheduled by FranklinCovey.

Refund Policy: The fee for the Coaching System[™] is non-refundable. Therefore, it is Client's responsibility to coordinate a date for the Onsite Coaching Day and ensure staff members attend the two Community Coaching Days.

Coaching Guarantee: FranklinCovey is committed to providing a quality training experience for every participant who participates in The Leader in Me Coaching System. Should any part of The Leader in Me Coaching System - Onsite or Community Coaching - fail to meet the Client's expectations for any reason, the Client will not be invoiced for that portion.

Part IV

General Terms and Conditions

Payment Terms: FranklinCovey shall invoice Client for all fees and costs associated with the training session, including shipping and handling, sales and use taxes (unless Client submits proof of its tax-exempt status to FranklinCovey), and, if applicable, Consultant's reasonable travel expenses. All shipments are FOB Shipping Point. Client shall pay the invoiced amount within thirty (30) days of the invoice date. Fees are subject to an annual price increase not to exceed five percent (5%). FranklinCovey will provide thirty (30) days written notice of such price increase.

Cancellation/Rescheduling Fees: Fifteen (15) calendar days' notice is required to cancel or reschedule a training session. If Client provides fewer than fifteen days' notice, Client will be billed a cancellation fee of 75% or a rescheduling fee of 25% of the consultant fee to cover costs incurred by FranklinCovey, as well as any travel costs imposed on FranklinCovey as a result of such cancellation or rescheduling. Client will not be assessed a cancellation/rescheduling fee for any training session canceled or rescheduled by FranklinCovey.

Facilities: Client shall be responsible for providing an appropriate classroom for scheduled training session and to furnish the classroom with audio/visual equipment and minor supplies (flip chart, markers) required by FranklinCovey and all costs associated therewith.

Copyright: FranklinCovey owns all intellectual property rights, proprietary rights and copyrights to all training session concepts and materials. Any unauthorized use, reuse, copying, reproduction, recording, transmittal, modification or revision of such materials or concepts of the scheduled training session or any portion thereof is expressly prohibited and shall constitute a breach of this Agreement and/or federal copyright law. The training session materials provided herein are intended for personal use only by the participant to apply the concepts learned within the school, and are not for resale or public display. Nothing in this Agreement implies a grant of license for Client to use the training session concepts and materials outside of the scope of this Agreement.

Recordings: Client shall not make or allow to be made any audio and/or video recordings of the training sessions. Client shall inform the audience and otherwise take reasonable actions to insure that no recordings of the training sessions are made.

Substitution of Instructor: If for any reason the scheduled instructor is unable to conduct the training session, FranklinCovey will provide a substitute instructor or, at Client's option, reschedule the training session. In the case of a cancellation or rescheduling by FranklinCovey, Client will not be charged a cancellation/rescheduling fee.

Returning Participant Materials: FranklinCovey will extend a refund for unused participant materials returned within thirty (30) days of purchase or training session date. Customized products, online profiles, and online learning modules are not eligible for refund. Electronic and software products must be returned within fourteen (14) days of purchase or training session date in the original, unopened packaging for refund. All materials carry an unconditional guarantee against any manufacturing defect for one (1) full year.

Training Session Guarantee: FranklinCovey is committed to providing a quality training experience for every participant who attends a FranklinCovey training session. Should a training session fail to meet the Client's expectations for any reason, Client will not be invoiced for the training session.

Entire Agreement: This Agreement represents the entire understanding between the parties and supersedes all prior agreements, whether written or oral, relating to the subject matter hereof. In the event any terms contained in any subsequent purchase order (or similar document) sent or received in connection with this Agreement are inconsistent with the terms of this Agreement, the terms of the Agreement shall prevail.

Modification of Agreement: All amendments or modifications to this Agreement must be in writing signed by the parties hereto. The person executing this Agreement warrants that they have the authority to bind Client.

Affirmative Action/Equal Opportunity Employer: FranklinCovey complies with the EEO Clause of EO 11246, as amended, and the provisions of 41 CFR Section 60-300.5(a); 41 CFR Section 60-741.5(a); 41 CFR Section 60-1.4(a) and (c); 41 CFR Section 60-1.7(a); 48 CFR Section 52.222-54(e); and 29 CFR Part 471, Appendix A to Subpart A, with respect to affirmative action program and posting requirements.

Force Majeure: Neither Client nor FranklinCovey shall be required to perform any term, condition, or covenant of this

Agreement so long as such performance is delayed or prevented by acts of God, material or labor restriction by any governmental authority, civil riot, floods, hurricanes, or other natural disasters, or any other cause not reasonably within the control of Client or FranklinCovey.

Governing Law: This Agreement shall be governed in accordance with the laws of the State of Utah. In the event that any action is necessary to enforce the terms of this Agreement, the prevailing party shall be entitled to recover reasonable costs and attorneys' fees, whether or not any suit is filed.

Effective Date:

March 31, 2016

FranklinCovey Client Sales, Inc.		Glasscock Elementary	
Signature:	Angie Witzel	Signature:	
By:	Angie Witzel	By:	
Title:	Client Service Coordinator	Title:	
Email:	angie.witzel@franklincovey.com	Email:	
Fax:	(978) 313-7844	Fax:	
Client Partner:	Nolan Marx		